3 H15
1. ’@'ﬁﬂaﬁ\!ﬁm;

(a) ¥R THHETES A 2019 7Y Jeafy
(b) TR THEAEBH 2R R TETA TR 1.

ot I ; R AT e L
(1) fue (a) e am i s
(3) faum (a) anfr (b) T 3R 2) faum (b)

: i (b) T A
Observe the following statements : (4) fum (a)

(a) Sagar cyclonic storm originated ; ) abian Sea.
(b) Sagar cyclonic storm di ed in May 2019 in Arabi

srupted i th Konkan coast.
Answer options : Properties on Sou :
(1) Statement (a) is correct

(3) Statements (a) and (b) are correct ((i; Statements (a) and (b) are incorrect

Statement (b) is correct

2. TR WG SHEASA] TR WO g sy qraerer Gl SaTET a9
TR FHOATT AR,
(1) e (F&ma) (2) FaE ()
(3) TWmME (TN) (4) ol o
Research was done at with reference to the Middle Age and Copper Age
in terms of human settlement in Maharashtra.
(1) Patne (Jalgaon) (2) Hatkhamba (Ratnagiri)
(3) Inamgaon (Pune) (4) All of the above
3. s @
o/ e » T e
(a) WA (i) wEm
(b) Heg W (i) U=
(c) s (iii) frew
(d). serfymn (Gv) M
g IW '
- (a) (b) - (o (d)
1) @ (ii) (i1i) (iv)
(2) (v) (iii) (ii) @)
3) @) C@Gv) (i) (i)
(4) (@v) (i1) (iii) (1)
Match the following : ’
Country/Area Shifting Agriculture
(a) India (i) Ladang
(b) Central America | (i) Roca
(c) Brazil | (i) Milpa
(d) Indonesia (iv) Jhum
Answer options:
(a) (b) (e) (d)
(1) @) (i1) (ii1) (iv)
(2) Gv) (iii) (ii) (1)
@B (iv) (iii) (i)
4) Gv) (ii) (iii) (i)
e HTETS! AR | SPACE FOR ROUGH WORK PTO.
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The father of Human Geography is
(1) Herodotus
(3) Vidal-de-la-Blache

H1s 4 A
4 mw
w1 W 11
(a) e R () o
b) foga 3o frgia i) T ¥l
(c) s g (i) MR
(@) S=am figm (iv) dieeres
it I ; |
(a) (b) (© (d)
(1) (i) (iii) (i) (iv)
(@ G Gv @ )
3) (@v) (ii) (iii) (i)
4) @ (iv) (i1) (iii)
Match the following :
Column I Column II
(a) Cepheid Theory (i) Laplace
(b) Electromagnetic Theory (i) Dr. Bé.nelji
(¢) Nebular Theory (iii) Alfven
(d) Binary Theory (iv) Lyttleton
Answer options :
(a) (b) (c) (d)
(1) G (iii) (i (iv)
(2) (i) (iv) (ii) ()
3) Gv) (i) (iii) (i)
4) @ (iv) (ii) (iii)
5. R UWE O™ o9E IRd.
(1) wUied (2) ReprerE
(8) fasa-di-en-sam (4) 99

«(2) Hecataeus
(4) Brunhes
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g SIS AW
TR YR T
@ s () yaimg 20 T B e A
(b) S C ) ym o PR AR
© ﬁ (i) wearom e freg T
d) LEIH (iv)  yargeh smomrETE SScel SgoRE
it IW | '
(a) (b) (c) (d)
(1) (@v) (i1) (iii) (i)
(2) G i) ~ @) (iv)
@) () (i) (ii) (iii)
(4) (i) (iii) (iv) (i)
Match the following :
Types of Stream _ . Explanation

(a) Consequent
(b) Obsequent
() Subsequent
(d) Braided
Answer Options: ‘
(a) (b) (c) (d)
(1) Gv) (i1) (ii1) ()
(2) (i) (iii) (i) (iv)
3) Gv) (i) (ii) (iii)
(4) (1) (iii) iv) @)

(i) Stream develops valley across outcrop
(ii) Flow controlled by original slope

(iii) Flowing opposite to the dip of rock
(iv) Maze of interconnected channels

7. @ faum g |
(a) gom & fay TR 3 s anfor ft S FET aTEa.
(b) Haw & fay T fimrrde 3T omR.

Wﬂm'ﬁ}: ' '
(1) % UM (a) T AR (@ v UM (b) e AR
.(3) faum (a) anfor (b) sWeR 2mea (4) faum (a) anfr (b) T T

Observe the following statements :

(a) Jhelum is a tributary of River Indus and flows through Lake Wular.

(b) Sutlej is a southern tributary of River Indus.

Answer Options:

(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct  (4) Statements (a) and (b) are incorrect
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8. wrftafawmem:
(a) mammmmmmmm
(b) SR YINEEA HioW T ATED.
(¢) @ T et 78 WRCAR WSB! a1y aifyaT SR T AR
gt IN :
(1) R (a) aror (b) wve SR (@) faur (b) 3TN (c) T TR
(3) fum (a) anfr () T amRa .(4) afa ad Far wieC e
Observe the following statements :
(a) Mountain located between Pravara and Kukadi river is Harishchandra
mountain.
(b) River Manjira flows on Balaghat Plateau. .
(c) Satmala and Ajantha mountain ranges are between Tapi and Godavarl river
valleys.
Answer Options :
(1) Statements (a) and (b) are correct (2) Statements (b) and (c) are correct

(3) Statements (a) and (c) are correct  (4) All the above statements are correct

9. . Qe JodT=A1 YhI=aT 979 ST @
() 3 Y GG 9 O S e

(a) UHAd AT

(b) T T (i) T O EAT YO et
(c) wRaferd e (i) T Yo 6 9 gE dEad

(d) vidafaa Fe (iv) Q8! Yo |HIE 9 IBTEE! Juial
gt IW |

(a) (b) () (d)
(1) (Gv) (ii) (iii) (1)
(2) (1) (iii) . (i) (iv)
(3) (i) (1) (iv) (i)
4) @) (iv) (ii) (iii)
Match the following for types of folds :
(a) Monoclinal fold " (i) Both limbs parallel but inclined to one side

(b) Isoclinal fold (ii) One limb turned over the other limb
(iii) One limb inclined and the other perpendicular

(¢) Recumbent fold
(d) Overturned fold (iv) Both limbs parallel to each other and the ground

Answer Options:
(a). (b) (c) (d)
(1) (v) (ii) (iii) (1)
2 (i) (iii) @) (iv)
(3) (iii) (1) (iv) . (i)
(4 @) (iv) (i1) (iii)
e HTHTATST SR / SPACE FOR ROUGH WORK
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. H15

Gt B fAUR W ey

(@) SO T ““W?ﬁ?é@m.
(b) TR T T S0 o,

(¢c) et TEATq aTErsd HOTR W

Wf‘ﬁﬁ: WWWW

. faum '
@ (a) 3T (b) @ faum (b) 3 ©

Which of the fol.lov\.rmg statements are correct about Bhabhar Plains ?

(a) The porosity is very high and hence small rivers disappear-

(b) The Bhabhar tract is suitable for crops

(¢) The inhabitants of the Bhabhar Plains are cattle-keeping Guijars.
Answer Options:

(1) Statements (a) and (b) (2) Statements (b) and (c)

(3) Statements (a) and (c) (4) Statements (a), (b) and (c)

11.

TR Ataeuide faum e

(a) Wad & gt M wwen T,

(b) T, FTerdrs s sy = 71 g T g AR,

(c) ifafcr siat FeemR Sfiedt &g g amed.

it IW : '

(1) faum (b) fr (c) SRR 1rea

@) faum (a) 3l (b) aW= 3MRd

3) faum (a), (b) 30fT (c) T RA

(4) faum (a), (b) 3T (c) =R T

Observe the statements regarding agriculture in Maharashtra =
(a) Soil erosion is not a serious problem of agriculture.

(b) Soil erosion takes place due to flooding in rivers, . forest cutting and

uncontrolled grazing.
(¢) Soils are saline due to over-irrigation.

Answer Options:

«(1) Statements (b) and (c) are correct

(2) Statements (a) and (b) are correct
(3) Statements (a), (b) and (c) are correct
(4) Statements (a), (b) and (c) are not correct
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12, Tda arroysdasa @ TR Hiifera .
(1) ol wp, w3 HoRAT M
(2)  Tegad ym, qw @ 0T GER-TATROR s
(3) TH G, wepwor W T GE-TERT
(4)  wexadi iy, gm0 M AT GER-TA RO am
Biosphere reserves are demarcated into
*(1)  Core zone, buffer zone and transition zone
(2) Core zone, buffer zone and micro ecological zone
(3) Buffer zone, transition zone and micro ecological zone
(4)  Core zone, transition zone and micro ecological zone

13. Iy A M . _
RO/ T - e T
(a) Tt wor @) FEd (D) TR
(b) TEE IS (i)  woiReft (II) TR
(c) framgg g (iii) <= (I1I) IaEe
d) TMyEERITT | Gv) W (IV) e
Tt I

(1) (o) (i) (IV)
(2) (a) (iv) (I
3) (i) (I1I)
4) (b) (iii) (II)

Find the correct pair :

Dams/Projects Rivers States
(a) Tehri Dam (1)  Kaveri (I) Jammu & Kashmir
(b) Dulhasti Project (ii) Bhagirathi (II) Rajasthan
(¢) Shivasamudra Dam (i) Chambal  (II) Uttarakhand
(d) Rana Pfatap Sagar Project (iv) Chenab (IV) Karnataka

Answer options:

-(1) (c) (1) (IV)
(2) (a) (iv) (I
3) (ii) (III)
4) (b) (iii) (II)
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14. EICIRSICIIE
Tl w9 11

(a) YRR 9B () zwEs B

(b) SATATHG! 93K i) Fya wen

(c) HITFIR TBR (ifi) St T

@ g wer (iv) Rt gan

ot IW e '

(a) (b) (c) (d)
O O G @ )
@ @ G G
L@ Gi) @ G G
@ v G M i)
Match the following :

Column I Column II

(a) Dome-shaped Plateau (i) Deccan Plateau

(b) Volcanic Plateau (i) Vindhya Plateau

(¢) Step-like Plateau (iii) Chota Nagpur Plateau

(d) Piedmont Plateau (iv) Shillong Plateau

Answer Options :

(a) ® = (© (d)
1) @ (ii1) (iv) (i1)
(2) (i) (iv) (i1) (i)
(1) (ii) (iv)
(iii)

(3) (ii)
4) Gv) G @)

e BrraTd} I / SPACE FOR ROUGH WORK
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16, wrefia favmi gheo wa onf @ W@ B
R (A): oo wREETTS SO YETERTE T s P or.

, |
‘Tﬂfﬁmﬂ: .
(1) fwm (A) s (B) 4 T 3mea

(2) fum (A) st g7 RYF (B) T% om
3) faum (A) g vrgq fuA (B) T am

4) faur} (A) anfer (B) 7 9% A

Examine the following statements and select the proper options :

Statement (A) : Every longitude has a different local time due to the rotation of the

Earth. 4
Statement (B) : Standard time system is utilized to remove the difference in the local

time.

Answer Options : .
(1) Statements (A) and (B) both are correct
(2) Statement (A) is correct but statement (B) is wrong

-(8) Statement (A) is wrong but statement (B) is correct

(4) Statements (A) and (B) both are wrong

16. m@mmmmmmﬁﬁmmmmmmm

3R ?

(1) 3vafTsm wra (2) TGN @R

(3) ITYE urE (4) ufeam wa

In India, which of the following has become a hot-spot with reference to threats to
biodiversity ? |

(1) Northwestern Indig (2) Deccan Plateau

(3) Northeastern India . (4) Western India

P FTHIAIS! IR / SPACE FOR ROUGH WORK
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g7, TR T T AR, 1 H15
(a) m%mﬁmmﬁn ?
B R ot i (Biomags) FER o,
(c) & TR T Wrofrry %“maa; ARa.
(1) 5 (a) 3Ry (p) !
(3) W (c) : (2) e (a), (b) 30 (d)
Which of th @ ataw
(a) Th ) fonowmg S8 charactenstlcs fC 2
ese are the oldest living compmun: oral Reefs
(b) Itisahigh biomass producer unities on Earth
(c) Itisarich floral apng fauna d;ve it;
(d) These are shallow ' .
. Wwater tropical
X:ud;)of the above statement/s is/are ::::3 it:ms.
nly (a) and (b N
(3) Only (c) ) (2) Only (a), (b) and (d)
_ _ .(4) All of the above
. I
18 , foer 3 T fafiern (Alpha, Beta and Gamma) eor %7 2

(@) GeiarE! A

(b) TRroew fafawar g=h

(c) Safafauar Avas el o

(d) =Eieret (Whittaker) (1972) i gafe wead

Tl iord ferem/foam ate oM 2
(1) % (a) 30 (b) (2) W (b)
(3) % (c) ; (4) e (c) T (d)

~ What is Alpha, Beta and Gamma Diversity ?

(a) Richness of species
(b) Simpson’s Diversity Index
(¢) For measuring biodiversity over geographical scale

(d) Whittaker (1972) suggested these terms
Which of the statements given above is/are correct ?

(1) Only (a) and (b) ¢ (2) Only (b)
(3) Only(c) (4) Only (c) and (d)

Foe] STl ST | SPACE FOR ROUGH WORK
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19.  Srew gaar
w

(a) 3w Ry
(b) wWERTY
() vf™m sme
(d) ey
ﬂﬂf‘-‘ﬂﬁ 3
(a) b) (o
(1) @v) (iii) (i)
(2) @) (ii) (iii)

(@) (ii1) (i) (iv)

(4) (i) (i) (ii)

Match the following : -
State

(a) Andhra Pradesh -
(b) Maharashtra
(c) West Bengal
(d Goa
Answer Options :

(a) () . (o
(1) (iv) (iii) (i)
(2) @) (ii) (iii)
(3) (i) @) (iv)
(4) (i) (1) (ii)

12

i) TyETh
(i) 99N wgrei
(iii)  gferha
(iv) STRNR

(d)
(i1)
(iv)

(ii)

(iv)

Name of Sanctuaries
(i) Radhanagari
(ii) . Bhagwan Mahavir
(iii) Pulicat
(iv) Jaldapara

(d)
(ii)

(iv)
(i1)

(iv)

20, mmmmmmm?

(a) a9 T AT

(b) & 9 Trelt

() A9yt 9 9o

(d) wHet fpar 9 daues

FeTIh! Brd /R s s 2

(1) % (a) M7 (b)
(3) % (c) 3T (d)

Which of the following factors are

(a) Temperature and soj]
(b) Water and soil
(c) Vegetation and water

(2) % (b)
(4) IJH T

included in chemical environment ?

(d) Human functions and Biological components
Which of the statements given above is/are correct ?

* (1) Only (a) and (b)
(3) Only (c) and (d)

(2) Only (b)
(4) None of the above

=1 HTHIAIS] ST / SPACE FOR ROUGH WORK
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g1, WIRATdS! WITaTea  Qeaay

. TN T2y ren sreny @rehe A GO g 38
(a) el IS &
(b) FafvE smam vy

(c) TTEIHI W

(d) TVEd TFEE F3Ty gl

Tl HIUT g1 T AR/ 2

(1) W (a) 3 (b) A (c)

(3) W (c) 3T () ((i; ::q(:; )

Gwen.the mportance of Supply side factors in determination of inflation in India,
following long-term policieg are likely to helf)

(a) Changing production patterns
(b) Calibrated import policy

(c) Focus on transportation '
(d) Storage infrastructure for perishable commodities
Which of the above options is/are correct ?
(1) Only (a) and (b) (2) ~Only (b) and (c)
_ (3) Only(c) and (d) (4) Al of the above
22. S s v Fvis (PQLI) Hiwarn wiomn wes frawd Sraen S 778 2

(1) nfem (2 TEd I
(3) € gy (4) wnescan

ggﬁlf) rf)‘actor is not considered while calculating Physical Quality of Life Index

(1) Life expectancy (2) Per capita income
~(3) Infant mortality (4) Literacy

23. TRV QMGA &l fawelt (TPG) Erefierteht #iv faum g a1 2 (TPG — Total Poverty Gap)
(1) wﬂaﬂig@au@mmﬁwmmmaﬁmmmmw
TPG . '
2) Freaz Tiga Wen Tt R 30 AR, A T " TPG B,

(3) WA I Teehiell MHeUT=1 THvl T Il aream Hgd TPG .
(4) wEmn Jurdid Ieqa favrdaea ang dises T TPG #4Q.
Which of the following statements are correct about the Total Poverty Gap (TPG) ?

(1) TPG measures the total amount of income necessary to raise everyone below
poverty line up to that line.

(2) TPG is the number of those whose incomes fall below absolute poverty line.

(3) TPG measures the share of total national income that each factor of production
receives.

\(4) TPG measures the relative degree of income inequality in a country.

e ——
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24, memmmmmm@@m o
Trefteth! v FRFENE TeES iR AR 2
() wataTd W gud o e
(b) SEUSAIT RI@aT SHTEAT EHAT GURI (2013 — 2017)
(c) TEF 9 i Iysfifast T (GOALS) (2013 — 2017)
(d) Infeardt v Tsflar &A1 FBHAF (2013 - 2017)
gidt I
M) FW@ @ @OINQ @) (b)) @ @) FEREE
Which of the following programmes have been supported by U.mted Nations |
Development Programme (UNDP) along with Government of India for poverty
reduction and livelihoods promotion ?
(a) Affordable Rural Housing for All
(b) Improving Efficiency of Health Care System in Multiple States (2013 — 2017)
(c) Governance and Accelerated Livelihoods Support (GOALS) (2013 - 2017)
(d) Strengthening National Capacities in Tribal Areas (2013 — 2017)
Answer Options : '
(1) Only(a) (2) (a),(b)and(c) «(3) (b),(c)and(d) (4) All of the above
25. WERIY WM 1 AN fome anmuiia seawed dgd T,
(1) 2011 (2) 2015 (3) 2013 (4) 2019
Government of Maharashtra has adopted gender budgeting from the year
(1) 2011 ~(2) 2015 (3) 2013 (4) 2019
26. 2011 HEA Wicicrdshl HITAT TSTd STt o TUITeR atd w1 21 7
1) HAfeh (2) wETTS 3) ¥ (4) weq S
Which of the following States had the lowest child sex ratio in 2011 ?
(1) Karnataka  (2) Maharashtra (3) Kerala +(3) Madhya Pradesh
27. SMfde S AA, YA RO @ielieddl R TRl aHEE AOEe S50
HEYTH T8 ? A . ‘
(a) WUE 1S JIET

(b) 3y famgraan
(c) WudaIg HWM I Frem

(d) <TH WIAEd AR 96w gt

qgidt I :

(1) e (a) 317 (b) (2) (a), (c) 3TN (d)

(3) 0w &d (4) I HIvETE AT

Which - of the following, according to the World Bank, are critical issues to be
addressed in India’s urbanisation ?

(a) Poor local governance

(b) Weak finances ‘
(c) Inappropriate planning leading to high costs

(d) Rapidly deteriorating environment

Answer options :
(1) Only (a) and (b) ~(2) (a), (c)and (d)
(3) All of the above (4) None of the above

Zeed] ST ST / SPACE FOR ROUGH WORK
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y® e
:c)ﬂ-d“tza’t: | PRSI et Sy ey 1 o A A
(1) W (a) AR (b)
(2) wad (b)
(3) EHEEEY 5'5""5'5‘?1'@ @) At

Which of the following is/are applicable to Gender Inequality Index (GID ?
(a) It provides insights into

ender disparities i alth, empowerment and the
labour market. gender disparities in he p

(b) Higher values in the GII indicate worse achievements.

(c) The empowerment dimensjon
seats held by each gender.

Answer Options :
.(1) Only (a) and (b)
(3) None of the above

is partly measured by the share of parliamentary

*(2) Only (b)
(4) All of the above

99, NSl A A e WiEhfrR wehedd s/ Rrem/A @ T 2
-~ (a) & Yumelt 1T, 2018 &1 AfSiEE o,

(b) @WﬁWW@Mg&%ﬁwﬁ. :
- (© Eﬁm@mmmamﬁmwamgmm

gt I ; |
(1) e (a) 3T (b) (2) Fad (b) 3 (¢)
(3) e (a) 31T (c) (4) Thwgd

Which of the following statement/s is/are applicable to the web based utility —
BhoomiRashi ? |

(a) It was launched on 15 April, 2018.
(b) It has been launched by the Ministry of Road Transport and Highways.

(c) It has been introduced to fully digitize and automate the entire process of land

acquisition.
Answer Options: |
(1) Only (a) and (b) (2)  Only (b) and (c)
(3) Only (a) and (c) | (4) All of the above
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Rio+20 tiges T Frie R TR Wreftertedy rordyef e 4 318 7
(1) A 2014 &)} & TRV FATHA TR g,

(2) a1 TRwa ST wEE e QR wigvare e, |
3) Eﬁammm%wﬁwﬁahaﬁmmwmamﬁ |
(4) 0 oRwdq Hge T I BFAS T i g Qv

ence on
Which of the following statements is/are correct about UN Confer

H15
30.

Sustainable Development Rio+20 ?
(1) The conference was held in June 2014 i in Brazil.

4(2)  The conference laid out Millennium Development Goals for the world.

(3) The conference adopted guidelines on green economy policies.
(4) The member nations de-powered UN Environment Programme in this

conference.

mmﬁmmsﬁéﬁé&mm@om-zl) Wm

SR 3 geifan 4, .
(a) WRArET fqWi® 2020 - 21 7 66 Wa guwen AR, @ 2019 — 20 W 60 W

2018 - 19 9ed 57 g |
(b) 2020 — 21 AEA FRAT Fhe FHAFE YRAT FWAH 15 61 8 IRTATEd I9W TR

31.

. |
FhaIh vy w1t I R/ 2
(1) % (a) | 2) H (b)
(3) 3 Wiy (4) UwE Ty T

Goal-wise performance of India by NITI Aayog SDG India Index Report (2020 — 21)

reveals that
(a) India’s overall score 1mproved to 66 in 2020 — 21 from 60 in 2019 — 20 and 57 in

2018 - 19.
(b) Despite 2020 - 21 being a pandemic year, Indla performed well on eight of the
15 SDGs. ,

Which of the above options is/are correct ?
| (2) Only (b)

(1) Only(a)
(4) None of the options

(3) Both the options
HeegT HTHIAIST ST / SPACE FOR ROUGH WORK
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(a) "“"'”“"'“‘"Wmmauzmmm
®) 2015

(c) iR Herfiwr } st
TN S S o

(1) % (b) A (¢)
2) 0 ud

(3) W (a) M (b)
(4) S (a) A (c)

Which of the following statements is/are true about Millennium Development Goals

(MDGs) achievements in India ?

(a) India has achieved the poverty reduction in an even manner.
(b) India was on-track to achieve the hunger target after the 2015 deadline.

(c) Empowering women remains a major development challenge.

Answer Options:
(1) Only (b) and (c)
.(2) All of the above
(3) Only (a) and (b)
(4) Only(a) and (c)

93, Wikl IO TSN AR Wen o A R SeEn e haedl AR

TIHIE A1 HO.
(1) TH Ui $g Je
(2) WUR ISl
(3) ufgenm 331
(4) fefea wra

Name the online platform launched by the Ministry of Women and Child

Development to support women entrepreneurs.
(1) One Stop Centre Scheme
.(2) SWADHAR Scheme
(3) Mabhila E-Haat
(4) Digital India

;Wn FHTIATS ST / SPACE FOR ROUGH WORK
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84. U7 Iggfa s v (NCST) Grefierdet o) Ry wivan A1e4 ?
(a) & U eI qEdA1 AR A 2004 WA A vt MR,
(b) Wmmmmmmmmﬁmmyﬁ
IR w1 AR,
(c) onfeandft g QN X GURTITHIS! &1 31anT im Fa.
(d) onfeare wfgera FEHHT AN FO, R MR FH IR

wiftaR: |
(1) % (a) (2) % (a) AT (b)

(3) % (a), (b) 31 (c) (4) FOHH &

Which of the following statements is/are correct about National Commission for
Scheduled Tribes [NCST] ?

(a) Itis a constitutional body which came into existence in 2004.

(b) Its function is to inquire into specific complaints with respect to the deprivation
of rights and safeguards of Scheduled Tribes.

(c) It works to improve literacy rate of Tribal community.

(d) Its function is to facilitate women empowerment of Tribal women.

Answer Options :
(1) Only(a) +(2) Only (a) and (b)
(3) Only (a), (b) and (c) (4) All of the above
35. @A v @EAE! HEUT, T 2007 =41 WA 87 T YAt SRaid dard ?
(a) =i 9 =T T (b) wHAURE e
(c) YmigH™ TEl (d) Gmefe geaT-
qardt I
(1) % (c) (2) W& (a) 30 (b)
(3) W (a), (b) 3 (c) (4) 0w

National Policy on. Voluntary Sector (2007) covers which of the following voluntary

organizations ?

(a) Formal and Informal Groups (b) Community-based organizations
(¢) Charitable organizations (d) Support organizations

Answer Options :

(1) Only®@ (2) Only (a) and (b)

(3) Only (a), (b) and (c) .(4) All of the above
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greteh o
b ) 3 e |
i 3 reamfiet sfan RieoaErd) a2
@) ARG L () e R W
which of the followi (4) T TGN
d planets ? ng methods i
?f) pPe:anre 1 | s is used for measurement of distance between Earth
allax method
@3) Slope tapping method (2) Direct distance measurement
(4) Echo method
7. 110 3ET U A 39 e —
ﬁgfqm‘(‘[awﬁ. 500 3ed Ay imaavﬁmmﬁmsmm
WMMWWIE“;@‘?WW frgra W1 g, 2SI K
(1) 726V ' _
3) 1500V 2) 455V
When a potential difference of 33 V i @ QY
some curren ) V is applied to a device whose resistance is 110 Q,.
t flows through it. I
whose resistance is 500 Qg it. If the same current is to be passed through a device
D 726V . then how much potential difference is to be applied ?
3 (2) 455V
(3) 1500V @ 150V
e
gg, WA Fafis TS A1 R AR 2
(1 T (F) (2 ReER
(3) e () 4) @A (Feg0y)
Which one of the following is a natural magnet ?
(1) Copper (2) Silicon
(3) Zinc .(4) Lodestone (Feg04)
39, W(m#aﬁﬁwavﬁ)da T AT .
(1) Swgd gl
() TSl FSUA firdn T
(3) Eaﬂlﬁﬁ A :
(4) geden FEH e anfon fearh FE!
SONAR (Sound Navigational Ranging) technique is used for .
(1) Prenatal examination .
(2) the study of heart valve action
ical stud - ‘
((i; Gzc;l;)gx?a g motiyon and osition of the submerged objects like submarines
. T—//urm
e raTETS) o / SPACE FOR ROUGH WORK | . P.TO.
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40. Wmmmloooﬁﬂwmo. et o, oK A v fafde A
5 W ATH F AT, T FIIARA I vy % 3“%,

(1) 50 km @

Calculate the distance travelled by a sound wave having frequency 1000 Hz and
wavelength 0-25 m, if it travels for § Seconds in a certain medium.

(1) 50km - (2)
(3) 800m

12560 m

1250 m
(4) 80km

4l T S IRl T A A 3, A qre syt B 30 39 IE,

wisitren fdt wiv feadier 2
@ u @ 12

‘.A cat is sitting in between two plane mirrors, If the angle between two plane mirrors
1s 30 degrees, how many images of the cat will appear ?

0 @ 1
.(3) 11 | . (4) 12

42.  ErATIYh! o Wi St 7Y gge fimior e 2

(1) ifRE | (2 wREEE

(3) 3= | (4) adfys e
Which of the following plant hormone is responsible for senescence ?
(1) Auxin ' | : (2) Cytokinin

(3) Ethylene .(4) Abscisic Acid

43. mwmmmwm,mmmmmm
' TS R A1, T e fgedr F1 Rt wd widt steifveriean Srsaian 1 S s@iet 2
(1) weu .(2) o=

3) o ot wigw A Rew (4) e ST e 4/ fsw

What will be the eye colour of all female individuals in F1 generation when a white
eyed female Drosophila is crossed with a red eyed male Drosophila ?

. (1) White (2) Red
(38) Mixture of Red & White (4) Mixture of Red & Blue

o] HTHINTS! SR / SPACE FOR ROUGH WORK

Scanned with CamScanner



21 H15

AT e aw)
(@) T I (T W) wrg wo

qaidt I ;

1) (), b), @) @ (a),®),©

3) (a),(0), (d) (4) (b)? (c)’ (d)

;Q;Elli:s??re identified on the basis of which of the following three characteristic
(a)

Much smaller in size than viruses
(b) Consist of circular RNA molecule

(¢) RNA molecule covered by protein coat
(d) Infect the plant cells

Answer Options:
(1) (a), (b), (d)

(2) (a), D), ()
.(3) (a),(e), (d)

@ (b), (c), (d)

45, WATAYh HU T WS ged R 2
(a) TEMET ARG

(b) Tk AT T Foro Terd
() TEEf g

d) TR

Qi I |

(1) % (c) 30 (d) (2) e (a) 3T (b)

3) (a), (b), (c) FAMUI (d) | 4) (a), (b), (c) 3t (d) ¥ T
Which of the following substances are components of soil ?

(a) Stones and sand

(b) Fine soil and decomposed matter

(¢) Chemical substances

(d) Colour substances (Dyes)

Answer Options:
(1) Only (c) and (d) (2) Only (a) and (b)
.(3) (a),(b),(c)and @ (4) None of (a), (b), (¢) and (d)
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46.  yoflarfietomaTdt @it Hiord T8 a9 T 2
(1) Wﬁﬁ—)ﬁlﬁ—)iﬂ’fﬁ—)aﬁ—)gﬁsﬂﬁqﬁw

(2 Q!’!—)GTH—)NT@I—»W—)#H—)EF{_)F
(3) W - St — FY - T - AH - F= —, g
4) T > o T o FAR > F3 > W — yareh

Which steps of taxons are followed for classification of animals ?

-(1)  Species — Genus — Order - Class — Family —» Phylum — Kingdom

(2)
(3)
-(4)

Kingdom — Genus — Order — Species s Phylum —» Class = Family
Genus — Species — Phylum — Class - Order - Family —> Kingdom
Kingdom — Phylum — Class — Order — Family —» Genus = Species

wreen @ Pt @@ FaE 9 @ e e 3 eEies @9 R, S JEE
I geh THAHHEY Taore HFATT SR Wiefte fhaT TedTd

(a) IQICHAT

(b) Fomr

(c) ST =%

d) 3 yarg .

el v faum/foum st amgq ?
(1) %ad(a)

(3) (a), (b), (c) 31fr (d)
Ecosystem is a self-regulatory and self-sustained structural and functional unit of
nature where biotic and abiotic components are linked together with the following

47.

(2) % (a) AT (b)
4) (a), (b) 31T (d)

processes :
(a) Productivity

(b) Decomposition
(c) Nutrient cycling
(d) Energy flow

Which of the statements given above is/are correct ? |
(2) Only (a) and (b)

(1) Only(a)
(4) (a), (b) and (d)

. (3) (a), (b), (c)and (d)
FeeqT HTHTATS! TR / SPACE FOR ROUGH WORK
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(a) T wmer st we Hef wromm.

@) = e e ieriemd w i wmen skéRE@dEEEE .

(© Tegeten iy siedera sy seiede & S Faa.

@ WAE, Ruwmwm, vffom R @ sdRgrdeada 5y Faaw.

a‘ﬁ'ﬁﬁ?ﬁ ot foram /fum s am ja?
(1) (a), (c) 3T (d) - (2) () 3TN (0)
(38) % (d) (4) e (b) 3T (d)

Pituitary gland is endocrine gland connected to hypothalamus at the base of the
brain. It secretes many hormones.

(a) Itis called as master endocrine gland.

(b) Its anterior part is neurohypophysis and posterior is adenohypophysis.
(c) Oxytocin and Vasopressin are secreted by posterior pituitary.

(d) STH, TSH, ACTH are secreted by adenohypophysis.

Which of the statements given above is/are correct ?

(1) .(a), (c) and (d) (2) Only (a) and (¢)
(3) Only(d) ' (4) Only (b) and (d)
49. mwmwmﬁmwmmm
et afdis 7=l B ?
(1) ReemieEa= (2w
@) fearagm (4) TEIH
During Krebs'cycle in respiration, fumaric acid gets converted into malic acid by
(1) decarboxylation (2) dehydrogenation
(3) dehydration (4) hydration
50. %m@m@mmmmu@ TEd Ol .
(1) T (2) wgNIEE
(3) wg:-YRHE (4) ATHHA Fdl
In a diamond, each carbon atom is___ surrounded by other carbon atoms.
(1) linearly -(2) tetrahedrally

(3) tetragonally (4) octahedrally

51. E@uﬂmav@ﬂia;_______a‘@-

(1) 03 (2) 04 (3) 02 .(4) 01
An atomic number of Tritium is .
(1) 03 (2) 04 @) 02 4) 01

Feeg] FTQTSY S / SPACE FOR ROUGH WORK
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T, — NTT AT T g4 GAR 70% W S,
(1) if@wr (2 REIfEER
3) TR (4) grAfeRaC
The _______ part of the Earth's atmosphere contains about 70% of the total ajr in
the atmosphere. ' .
(1) Stratosphere (2) Mesosphere
(3) Thermosphere .(4) Troposphere
—
9. Taciem s mier stagtrn Sswimier - . fagen ol — fage S (R - R ),
AU I CE A+ D S S R 2 S
Frgafeufes s~ o @ g oy
D R - <R -3 <55 _ A
2 s - > AR -3 > 5.0 CAC
(3) 9.3 -F3. <A - fast < st .97,
4) fash &, > a9 9.5 > @ - .S
The electrostatic repulsion between electron pairs such as lone pair — lone pair
(I.p. - L.p.), bond pair - bond pair (b.p. — b.p.) and lone pair — bond pair (1.p. - b.p.) in
a given valence shell decreases in the order of -
(1) lp.-lp.<lp.-bp.< b.p. - b.p. '
(2) Lp.-lp.>lp.-bp.> b.p. — b.p.
(3 b.p.-b.p.<lp.-lp. < Lp. -b.p.
(4) Lp.-b.p.>b.p.-bp. > Lp. - 1p.
54. A T e 3] 7,
H=1,C=12,0=16,1=127]
(1) 250 79 AN s (2) 2279 FET SRS
(3) 45 7" qoft (4) 10 79 g a1y
The maximum number of molecules are present in .
H=1,C=12,0=16,1=127]
(1) 250 g of iodine crystals (2) 22 g of carbon dioxide
(3) 45 g of water -(4) 10 g of hydrogen gas
55. V,07* 7R V sifffedimr Rt o,
(1) +5 (2) -5 (3) +4 4) +10
The oxidation state of V in V, 07% is :
, (1) +5 (2 -5 3) +4 4) +10

FeedT HIHITS! ST / SPACE FOR ROUGH WORK
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86 gt ARt om. @ T RN TeaE AT awrn g o R

99U & IHUM .
TE. TN W A ongy HE G, W W FreA

e TN A"
m»wmﬁ%ﬁﬁmmmmmmm
(1) @amm .

.(3) ¥ W, A ((i; i.é—;.giﬂ

“Directive Princi i '

Jecrinethicy: Theyl;:f:;;sn: t:‘i::;l feature in a constitution framed for parliamentary

to'do what he likes with it ;;18 fo.rce. But whoever captures power will not be free

cannot ignore them. He m . He will have to respect the Directive Principles. He

but he will certainly h ay not have to answer for their breach in a court of 1aw,
y have to answer for them before the electorate at election time.”

Who said this ?

(1) Pandit Jawaharlal Nehru (2) B.N.Rao

3) Dr.BR. | M i
/_( ) Dr. B.R. Ambedkar . (4 KM.Munshi

g7, SaTeA FRiEE 3 HErEn Ul el frum frew o
(b) %mwmwm
(c) %WWWWWWWMMW.
(d) mmﬁmaﬁamﬁmm@mmwmqmmﬁ
Fheddh v foum /faum stet o4 ? |

(1) % (@) (2 w6 (D) (3) wE (a) I (0) (4) FH () aten (d)
fo(ilisider the following statements about the Comptroller and Auditor General of
ndia :

(a) He holds office during the pleasure of the President.

(b) He draws the same salary as a Supreme Court Judge.
(c) Before entering upon his office, he swears an oath or affirmation before the

Chief Justice of India.
(d) He may be removed by the President only after an enquiry by the Supreme
Court of India.
Which of the statements given above is/are correct ? |
. (1) Only(a) (2) Only (b) (3) Only (a) and (c) (4) Only (b) and (d)
58. mmmmmmmmmam?
(1) SR 9eAEh (2) @i, gt areamft
@) . <. A  (4) oo wrfere -
Who among the following was the first Chairperson of the National Commission for
Women ? ' ‘
(1) Jayanti Patnaik (2) Dr. Poornima Advan
3) Dr.V Mohini Giri (4) Vibha Parthasarthy -
: — - - P.TO.
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59. R Teaveiem e FEEHER, AURENY g s SUd @9 F A, Wy
“(1) 7=z 168 (2) 3rg=ag 167 |
(3) 3g=3z 166 (4) =A% 169

Which Article of the Indian Constitution empowers the Parliament of India to create
or abolish Legislative Councils, if the Legislative Assembly of the State passes 5

resolution to that effect ? '

(1) Article 168 (2) Article 167
(3)  Article 166 ‘ (4) Article 169
60. WA UGt TeATEASAl B IR Wgdiqan wEE AR Fodl AT
WHAT ? .
(1) 3787 142 (2) 3= 145
(3) =g 147 (4) =9 143

According to the provision of which Article of the Constit';uﬁonv can the President of
India ask for advice from the Supreme Court ?

(1) Article 142 (2) Article 145
(3) AI"ticle 147 (4) Article 143

61. 447t geATgERA AFTA 1978 GR WIeiedoh! o et Faia e SRA ?
(a)  3flger wrdta =l &1 Fafor Fvarared g Foaia s,
(b) ufHgeM fecten a1 Whal JAfaams wa wrsfivarsr Uywdig sifrR 2vid ST,
(c) THE soffamitear F1@M e 20 M =g 21 sy T RS qEyg sl
(d) UsIq=idic 9r= fawq gwadi gefia gafavara o,
qgtdt I :
(1) (a), (b) 307 (c) (2) (a), (b) 31foT (d)
(3) % (c) HIMT (d) (4) % (b) 3T (c)
Which of the following provisions were made by the 44th Amendment Act of 1978 ?
(a) Provided for the creation of the All India Judicial Service.
(b) Empowered the President to send back once, the advice of the Cabinet for
~ reconsideration.
(c) Provided that the Fundamental Rights guaranteed by Article 20 and Article 21
cannot be suspended during the National Emergency.
(d) Shifted five subjects from the State list to the Concurrent list.

Answer Options : | |
(1) (a), (b) and (c) (2) (a),(b)and(d) -
.(3) Only(c)and(d) (4) Only (b) and (c) |

geqT BIHTAIS ST / SPACE FOR ROUGH WORK
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% @ mm“?““"*%“ﬁm wfPffen g s ?
ST e
(b "R T whg FemrETd B
() FHFN TZIM whyh
d) Frwimr afg
(e) I |ty
atdt 3w
(1) (), (b) anfer (q)
@) (0, (d 31 (o) o ;‘g', E‘{,))
Which of the following committ, . S . f both the Houses of the
Parliament ? €es contains representatives 0
(a) Committee on Welfare of Scheduled Castes and Scheduled Tribes
(b) Comm;ttee on EmPOWermmt of Wome
(c) Business Advisory Committee n
(d) Committee on Privileges
(e) Estimates Committee
Answer Options :
(1) (a), (b) and (d) (2) Only (b) and (¢)
_ 9 ©Wand() (4) Only (2) and (b)
63. ¥ ITggfE Wt (wmwh.) TN TN IV HEAHTIER TR HATG ATl 318 ?
(1) <aw 337 (2) waw 338
(3) o™ 336 (4) +a9 335
The National Commission for Scheduled Castes (SC) is c_onsﬁtuted by which Article
of the Constitution ? '
(1) Article 337 +(2) Article 338
(3) Article 336 (4) Article 335
64. 13fe8a, 1946 T =il vrarsan wen wfidime) Seiwien ota Wi
(1) a1 FureH (2) =R g
3) <. g 6T (@) TN e TEw
On 13th December, 1946 moved the Objective Resolution in the
Constituent Assembly of India.
(1)  Sucheta Kripalani (2) Sarojini Naidu
(3) Dr. Rajendra Prasad (4) Pandit Jawaharlal Nehru
FTYT FHTAT! S / SPACE FOR ROUGH WORK ~P.TO.
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(a) fawrfa w@eea@e (Departmental proceedingS) W ﬂ:‘ S 3@ Rren
T TR T A e AR FA AT ‘"ﬁ a |
(b) T@a:fawg @ar 7 (self-incrimination) 2o ara'a% @ 8 drgt st FRE T

2 Tradia @ R. '
mammmmWWMﬁwwW%

(c) a:fowg @t 7 vt
Wﬁﬁaﬁ :
(1) faum (a) T 2) fum (b) TR . |
(3) fum (a) afir (b) TR 4) R (a) 30T (c) T

same offence more than

Consider the following statements : .
No person shall be prosecuted and punished for the

(a)
once, including any departmental proceedings.

The protection against self-incrimination extends to
documentary evidence. ., |
The protection against self-incrimination extends to both criminal and civil
proceedings. '

Answer Options :

(1) Statement (a) is correct (2) Statement (b) is correct
 .(3) Statements (a) and (b) are correct  (4) Statements (a) and (c) are correct

both oral evidence and

(b)

(c)

66. wreher faumy e o, 3 A free ¢
(a) TITEIE 7<% 371 (A) WA TSI RN g FA Aiedl .
(b) FmTea e o WHNGE WU dedid GEeSA HIUAEl FEEE  ACS

RruTEseT TrAREE AT H1 39 T8
(c) zgwhzrwnﬁgmﬁaaaffﬁ?sﬁmaﬁc—ﬂm.
qaidt I :
(2) W fauH (a) S0 AR

(1) faum (a) 3T (b) ST 3T
(3) Faum (a) M1 (c) SR 3ATd +(4) d faum s ATRd
Consider the following statements and choose the correct option :

(a) The special provisions for Nagaland are made in Article 371 (A).
(b) No act of the Parliament in respect to the religious or social practices of Nagas
can be applied without the approval of the Legislative Assembly of Nagaland.

(¢) Tuensang is the most developed district of Nagaland.
Answer Options :
(2) Only statement (a) is correct

(1) Statements (a) and (b) are correct
(4) All the statements are correct

(3) Statements (a) and (c) are correct

Foed] HIFTAIS! SR / SPACE FOR ROUGH WORK
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Grefieteh! B Wiarsay

Q) mma@mmm 18 7

@) T T A

(4) TR T

Which of the following i i iy 7
(1) Mutual respect for e';:ﬁ itpanchsheel principle of India’s foreign policy ?

(2) Mutual non-interference her’s territorial integrity and sovereignty
(3) Peaceful coexistence
(4) None of the above

(1) (a) 3R () Trew amq 2) (b) MY (c) T IMMEA
(3) -(3) anfor (b) T IR (4) @ faum sle amd
g,;;nSI Tﬁz thebf:ollov\:mg statements and choose the correct option :
Indi subject, ‘Co-operative Societies’ has been included in the Constitution of
5 aby the 97h Amendment in 2011,
e right to establish ‘Co-operative Societies’ is given in Article 19(1)(c).

(¢) The first law related to Co. : biac : :
of Lord Curzon. Co-operative Societies in India was passed in the tenure

Answer Options :

(1) (a) and (c) are correct (2)

(b) and (c) are correct
(3) (a) and (b) are correct

- (4) All the three statements are correct

69.

———
T FMTATSY ST | SPACE FOR ROUGH WORK

FEOST AIG T A1 Fan Eefld 9 Iqret SRR SO SAe Seas S,

TETEE U H e qerea 0 (areae 311) wTed wieliad Sor e TEHIE AR ?

(1) =82 311 WIE JrHceict HEV 3 ARl ST SafhT Iqerey T,

(2) 3= 311 WRl JFHSeq WEWTE AN WEWES, ¥ oM Yefiw ary HEmiesT
(LIC, ONGC) area auf¥eh Heaardiel =t ar Ardia. b

(3) Igeag 311 Ui TS AN Ha TR (FE) A R et
(Temporary) HHETIHT &I, e, ST,

(@) AR FEwe Faq e ¥ e st veee g w0 T e s 311

Which one of the following statements about dismissal or removal of persons

employed in civil capacities under the Union or State (Article 311) is not correct ?

(1) Protection under Article 311 is not available to military personnel.

(2) The employees of statutory corporations such as the LIC, ONGC are not
entitled to the protection of Article 311.

(3) The provisions of Article 311 are applicable to permanent civil servants only
and not to temporary servants.

{4) Suspension of government servant from service is neither dismissal nor
removal and is not within the scope of protection of Article 311.

P.T.O.
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70. @Rl faum fy=wma @
(a) wad=ar yg@i=aT T (panel of Chairpersons

| g T ST TR
4. @At TN
aﬁmﬁwm&ﬁmmﬁ%wﬁmmﬁaﬂam'i“”

(b) gt
TG BT TeqEqE) I A, , qeadigR
() 7y, Ity mmmmmﬂwﬁ‘ﬁm'aﬁqﬁm"" Fgw
aﬂaﬁﬁmm aregaT= Hasd IR IrSeft AT, |
Ford fayr/faum S0 3R /1R ? RS
(1) % (a) (2) % (b) .(3) (a) T (c) 4 T
amongst its -

Consider the following statements : ‘ &
(a) A panel of Chairpersons is elected by the Lok Sabha from

Lok Sabha when

members. .
(b) A member of the panel of Chairpersons can preside over the
t

the office of the Speaker or the Deputy Speaker is vacant.
(c) In absence of the Speaker, the Deputy Speaker and ‘member of the pmfelt(:f
Chairpersons, the Speaker’s duties are to be performed by a member appointe

by the President. _ i
Which of the statements given above is/are correct ?
(1) Only (a) (2) Only (b) (3) (a)and (c) (4) None of thg above

71. @reha fuam e 99 9 i B
(a) fonfiar 2014 wda Ioha A7 SwT=T HPT BN
(b) 2014 7e} WM fErfiEmET amEr daar.

(c) AT I WHEHA 30 ST HGWIT 7.

- qgQidt I ; , ”
(1) (a) 30T (b) TS A . (2) HE (c) |
. (3) (a), (b) vy (¢) fawdt sU=R (4) (a) 37 (¢) ST

. Choose the appropriate option among the following statements :
(a) Crimea was a part of Ukraine till 2014. v
(b) Russia annexed Crimea in 2014. .

(¢) NATO consists of 30 member countries.’

Answer Options :
(2) Only (c) is correct

(1) (a) and (b) are correct
(3) (a), (b) and (c) are correct (4) (a) and (c) are correct

S Y 3 g FATE A Sien FAR A Horen dee sreagad fryh s

- 3TTedt 3R ? |
(1) wHIsmA. (2 3 FdwmdH. - @) mum.Ima.
Former JNU Vice Chancellor Mamidala Jagadesh Kumar has been appointed as the
Chairperson of which institution ?

(1) NCERT .(2) UGC 3)
FHTqT STHTATST N / SPACE FOR ROUGH WORK
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aeht 2 T R ot e |

(1) W Fegrong A 2 T, 2021 T WAt o Pas

(3) TAW weg ST p—

WhoamOngstthe

.(4)  wuen ghw

Internationa]) S oWing y,
y acclai as chosen as t . ’
(1) Malalg YOUsafzai Magazine Tism:?z “Time Person of the Year, 2021’ by the

(3)  Elon Mygk (2) Ratan Tata

(4) Kamala Harris
74. EICCLE 20W

O TR 2 e 3, % vreay o e 2 7
) Tty (2) YT

(3) Painting ‘ (2) * Archaeology
— | (4) Acting
75. IV 23 gfasfqlz“
-12 ey .
1) 7 T FARF Ao gRgw H 2
(3) I =wife (2) S
Which country launcheq th H 4) Titqur shifen i
1) China ¢ Hlwasong-12 n(lzid-range ballistic missile ?
(3) North Korea - (2 Japan

(4) South Korea
1% MWWWWWWW
(1) FEhAUId Falld =0 Srerderis qgmit 3 o,

RS SR RS LR CE R S ————

(3) I U ymi=h o 11391 ST IR, e AR e et sy
(@ W ) i e S e s, e e s e

Find out the incorrect statement from the following about the Yazidi group
(1) It is one of Iraq’s oldest minorities.

(2) They are concentrated in northern Iraq around Mount Sinjar.

(3) This ancient religion is rumoured to have been founded in 1th century by
Umayyad Shaikh. . '
(4) This religion has taken some elements from Christianity so they are targeted
Bl by Islamic terrorist groups.
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77. 2022-23wmmmmmﬁw A

AT o Feft R ?
(1) 20% % sifuF v ()
(2) 25% 3 Afoe 9 (39) |
, (3) 30% % atfire Iy (¥4)
as declared by the Central

How much tax would be imposed on Cryptocurrency,
Finance Minister, Nirmala Sitharaman in the Budget 2022 — 237

(1) 20% tax plus cess
(2) 25% tax plus cess
(3) 30% tax plus cess
(4) 35% tax plus cess

mmiﬁn;m#mézozzuﬁmmmagmmﬁwﬁ ?

(1) g ST . (2) g IEE

(3) deAeh sferm . (4) T3 e

Which racing driver won the Saudi Arabian Grand Prix Tournament held in March

78.

20227
(1) Charles Leclerc (2) Max Verstappen
(3) Valtteri Bottas (4) Lewis Hamilton

79, qeamn & e gimih Fivd faum e o 2
(a) 1 9T HITHITE “AigeT™ HISR 318 UK.
(b) 9] 3T e Tt ATl HYF dTEdTd.
(c) 3MgtaTel yayeT 3O AHSdIvar HER & JorammHia gfig wied & Inga.

qqrdt I ; :
(1) % (a) ‘ (2) = (b)
(3) % (c) +(4) HIUAE A&

Which of the following statements is incorrect about Pulwama ?
It is known as the Rice Bowl of Kashmir.

(a)

(b) Veshu and Jhelum rivers are flowing from Pulwama.

(c) Aharbal Falls and Avantishwar Temple are famous tourist places near
Pulwama.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Only(c) (4) - None of the above
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(b) TS Aefiwdry %mﬁa‘m%wﬁamzozzudwzﬁ@“mma
(c) %Wﬁ'g{%mm e
qardt IW :
(1) % (a) | | 3

L3 (@) 3N (o) wiv | ((i’ (ﬁ“’_gmﬁ ;b)m .
Choose the correct option, -
(a) Deon Lendore of Trinidad and Tobago diéd in a car accident in January .
(b) He won a Bronze medg] in the London Olympics, 2012
(c) Deon Lendore was g Chess Player
Answer Options: '
(1) Only (a) is correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) All the three statements are correct

gl TN TR Afigs A o e e g A O F5 FA T
FEG Hel 3R ? ‘
1) ffem | @ TR
(@) (4) T
Which State has signed Bollywood actor Sanjay Dutt as the Brand Ambassador for
its Golden Jubilee celebrations ?
(1) Sikkim (2) Manipur
.(3) Assam (4) Arunachal Pradesh

B2. R HIT g e feRrdiEd Foe T T 100 9§ Ot et aTed ?
(1) ey 47 @t (ILO)
(2) a1 T St gEed (FAO)
(3) i TR gue (WHO) |
. ! . U) |
(4) SATCAEE TITA FHA (UP |
Which of the following UN specialized agencies has completed 100 years of its
i
formation ?

«(1) International Labour Organization (ILO)

(2) Food and Agriculture Organization (FAO)

(3) World Health Organisation (WHO)
(4) Universal Postal Union (UPU)
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;Wﬂ FTard) S | SPACE FOR ROUGH WORK

Scanned with CamScanner



H15

34

e e S A RS o

(a) wﬁmmmﬂmmﬁ m@,mﬁmw%ﬂ

(b) mmmmﬂwamﬁ e

Bt
() ! mmzolgndwmmmmm'
gt I ;
) R

(1) (a) 3l (b) TR MEA 2) Wﬁ(dam2¢nsﬁm

@) (@), (b) 3 (c) fordt T A (a) ST (€) FAEE
tion :

Consider the following statements and choose the appropriate 0P

4)

(a) Padma Shri Awardee Milena Salvini was born in Italy. :
(b)' She was a famous Kathakali dancer and had established a dance school named

‘Centre Mandapa’ in Paris. | ,
(¢) The Indian Government honoured her with Padma Shri Award in 2019.

Answer Options :
(1) (a) and (b) are correct
(3) (a), (b) and (c) are correct

(2) Only (c) is correct
(4) (a) and (c) are correct

SR frTe faFfan TsaTd e FGur ufget W S Hiod! ?

84.
(1) T+ (2) TH.E.IM.
(3) ehand. (4) A
Which bank has became 'the first Indian Bank to have an office in Australia’s
Victoria State ?
(1) Dena Bank +(2) SBI
(3) BOB (4) PNB
85. YA gg Higd=ar HeaW 377 LA Ydie vl fawm=n 3g@ Mg ?
(1) u& yaw (2) wHATTRT
(3) =fER (4) GO

Section 377 of‘ the Indian Penal Code (IPC) is related with which of the following

subjects ?
(1) Temple entry
(3) Adultery

* (2) Homosexuality
(4) Surrogacy
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(1) = wy meﬁﬁ?ﬁmmwmm
(3) faum oy '
(2) Tsmam
Before the formgt:
: tion of « ((4)  wQueTREft @
which of the follgy; of ‘All Ingis S .
' in .“101a States Peoples’ Congress’ at the national level,
(til)e P i:)ol;:e ? e OTganIZatlons was activg iixs Kolhapur to raise the concerns of
Sabha )
(3) Vidhan Sabha (2) Rajya Sabha
— \ (4) Paropakarini Sabha
87. Ea(—‘ﬁﬁ ﬁ'ﬁ}s m aﬁa'@-[ . .
M) . (@) i ey
o s
Pick out the odd person from the following :
(1) Dr. (Mrs.) Laura D'Souza g: . .
-2 Sudhatai Joshi

3) S "
ane Gurj +(4) Hirve Guruji

—

88. 1957 = Tt foreres Ut armiremy syemam o v 2

(1) 3T 3 (@ i el

. (3) giETE SwgE (4) guiaré SFTEd
Who was the president of the 1957 National Commission for Female Education ?
(1) Anutai Wagh * (2) Shantabai Dani
(3) Durgabai Deshmukh ' (4) Durgabai Bhagwat

89. . STSTHTRE SMiASHUTA UTHIG N HIUA A HES TN AA BNl ?

(a) A ¥R | (b) ~ TS, Wieh
(c) QeI Fqad (d) WIYERS TS
qardt I

+(2) & (a), (b), (c)
4) (a), (), (c), (d)
r. Babasaheb Ambedkar, who from the followers of

bers of the Congress ?
(b) Rajabhau Bhole

(d) Bapusaheb Rajbhoj

(1) % (a), (c), (d)
(3) & (a), (b), (d)

After passing away of D
Dr. Ambedkar, became mem

(a) R.D.Bhandare
(¢) Dadasaheb Rupwate

ﬁl)lswc:;f (l:)":)s (:d> (2) Only (a), (b), (¢)
3) Only(a), (b), (@ @ (a), ®), @, @
P.T.O.
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90. wmmmmmmmmwm
(1) ®. NEch varrs fifTg 3 T@@= .(2) W& aEmd TS
3) = Uz 7 FE= (4) gAaw q TSI S,
ing the bBritis
Which of the following two places in Mumbai had Salt Markets during
time ? | I
(1) C.S.M.T. and Wadala (2) Bhendi Bazar and Wadala
(3) Charni Road and Wadala

A A e udf @t T i TEE Heed Fioft womgd Fel gl ?

. (1) TR viglT WESH

(2) €T g TWEISH
(3) . M. WiEwER

(4) .= dem
Who had established the Manav Dharma Sabha at Surat and Paramahansa Mandali

(4) Panvel and Wadala

91.

at Bombay ? '
(1) Atmaram Pandurang Tarkhadkar -

(2) Dadoba Pandurang Tarkhadkar
(3) R.G. Bhandarkar
(4) K.T. Telang
I i fawet qusfieran wifdt s dae-g-A7 7 a Sl fdir 2
(1) wgqg Tt (2) anfcasdt
| (4) 3 H

(3) ¥ wga
Who wrote the book called Tahgqig-i-Hind, which gives a detailed description of

92.

North India ?
(1) Mahmud Ghazni
»(3) Ibn Battuta

93.  TSRAM WA AEATH FTT Fpd! IO S faHmor o ?
| (2) ITEHTS

(1) €mR

(3) WaTTE - (4) S
Which of the f’dllowing is a large Mesolithic site in Rajasthan ?
(1) Bagor- (2) Adamgarh

(3) Pratapgarh (4) ‘Chopni-Mando

geeqT BIETATS! ST / SPACE FOR ROUGH WORK

(2) Al-Biruni
(4) Abdul Razzak
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WETATqe ’
(a) rEft - S
b) Frew () fofemr
(c) Wy -
@ I ' (ili) I\
s (v) wEsfla
A BT
(1) Gid) (i) . e
N (iv) (ii)
(2) (Tl) (iv) ) (i)
@ ® WD) Gy oy
(4) (iv) (iii) (ii) i)
Match the following :
Mahajanapada King
(a) Kashi (i) Bimbisara
(b)  Kosal (ii) Ashwasena
(c) Magadha (iii) Udayan
(d) Vatsa "~ (iv) Prasenjit
Answer options : |
(a) (b) (c) (d)
(l) (ii1) (i) (iv) (ii)
(2) (i) (iv) (1) (iii)
3) ) (iii) (iv) (ii)
(4) (v) (1i1) (i1) (i)
95. fau. fi arem Hmr A1g 4 LG THEA 1932-33 TTEh Hiow1 TR 334 Tiea el ?
(1) g R +(2) e i
@) e ah @ @i
By which reward was V.R. Shinde felicitated in 1932-33 by the State of Baroda ?
(1) Samajik Puraskar (2) Dalit Mitra
(3) Dalit Sathi (9 Rao8aheh
e o TTd) ST 1 SPACE FOR ROUGH WORK | P.T.0.
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SR LT RS e——— A
AW FTEeN Bt ?
(D 3w (2) # %
+@) ww 4) za ¥
How much fine was charged each month by Chhatrapati Shahu Maharaj from the
parents who did not send their children to school ? ’
(1) Two paise (2) Three paise
(3)  Five paise (4) Ten paise

97. 183, 1947 Ich foew wikfamie} svvren wrreen mrar el 2
' (a) YRdT wravh Fme

(b)  wRdfa =TT SR
(c) =& Aggr
(@) et Fraa

- (1) %% (a) 3T (c)
(2) e (a) 30T (d)
(3) e (a)

(4) S (b_)
Which Act was sanctioned by British Parliament on 18tk July, 1947 ?
(a) Indian Partition Act
(b) Indian Independence Act
(c) Draft Constitution Act
(d) Constitutional Amendment Act
Which of the statement/s given above is/are correct ?
(1) Only (a) and (c)
(2) Only(a) and (d)
(3) Only(a)
(4) Only (b)
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qaift Ty . b  Jmrg
(1) T (a) (c) wHrerwran (d) fReeh
3) % (n) ® iy |

(2) & (c) (d)

Where wguq
t . -
revolutionaries}l‘_‘;{ H‘ndustan St (4) w4 (d)
ke Ch Ocialist Republican Association established by

(a) and
:n umbaj &) I’\?sh*':kher Azad and Sardar Bhagat Singh ?
o “gerl Options e (© Kolkata (@ Delhi
P On ¥ (a) anq (b)
nly (a) (2) Only (c) and (d)
(4) Only ()
(1) werg 59_3"'#'ﬁmmmmwﬁﬁ%éﬁ
-2) Ay 3) faEr (4) M

The Bl'ltlsh a :
Plassey in 1752f)omted Mi

r Jafar ag the Nawab of after the Battle of

Bengal (3) Bihar (4) Orissa

100. 3.9. 12063 1290 =
. ot Wm%ﬁmmmﬁmﬁvﬁm ?

(b)  Hemrg oy

©)  FITA T

(d) soqafi

TR 1o R/ ey wive ATed ?-

(1) % (a) 1M (¢) (2) &= (b) anifiy (q)
(3) e (a) | +(4) % (c)

Who founded the Slave Dynasty which ruled from 1206 to 1290 ?
(a) Mahmud Ghazni

(b) Muhammad Ghori

() Qutb-ud-Din Aibak

(d) TIltutmish .
Which of the statement/s given above is/are correct ?

(1) Only (a) and () (2)  Only (b) and ()
(3) Only (a) (4)  Only (c)
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